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201 310 301 203 304 104 210 204 111 110 208 106 107 306 101 307 302 109 211 308 102 309 108 209 212 103 311 213 sgl sg2
N (0] N (0] N (0] N [¢] N (0] N [¢] N (0] N (0] N [e] N [e] N (0] N 0 N (0] N (0] N [¢] N [¢] N [¢] N [¢] N (0] N [¢] N [¢] N [¢] N [¢] N [¢] N [¢] N (0] N [¢] N|O| N (0] N [¢]
0 7:10- 7:55
1 8:00- 8:45 La [2LO-1/2 |RM |1TE-1/2 UH |1TH-1/2 KM [1TA-1/2 KG |1TPb GJ |4TBN-2/2 |KR |1TA-2/2 |PH |1TE-2/2 |ML |4TBN-1/2 |Kw |1TH-2/2 |MK [2THA JW |3TEP GB |4TAN-2/3 KK |1TPa \WE [3THA-2/2 BD |2TEP-2/2
2 8:50-9:35 RM [4TAN-1/3 UH |3THA-1/2 |ES |1TPb-1/2 MA |1TA KM [4TBN-3/3 |[RA |1TPa KK [1TPb-2/2 |KG |2THA GJ |1TH-1/2 |KR |1TH-2/2 |PH |4TBN-1/3 |ML |2TEP-1/2 |Kw |2TEP-2/2 |MK |3LO La [2LO PA |3TEP GB |4TAN-2/3 K [1TE \WE [3THA-2/2
§ 3 9:40-10:25 |BM |1TE-1/2 |RM [1TE-2/2 |BH |1TA UH |3TEP-1/2 |ES |1TPa-1/2 |La [3LO JW [2TEP-2/2 |KM [3TEP-2/2 PH |3THA-1/2 ZG |4TBN-1/2 |NK |1TPb-1/2 |ML |1TPb-2/2 |Kw [4TBN-2/2 |[MK |1TH JK |2LO PA |2THA GB |4TAN-2/3 |RA [2TEP-1/2 KR |1TPa-2/2 \WE [3THA-2/2 BD [4TAN-1/3
§ 410:35-11:20 |BM [1TE-2/2 |RM |3TEP-2/2 |BH [2THA-2/2 |UH [3LO ES |4TBN-3/3 |LG |1TA KM [4TBN-1/3 La |2LO GJ |1TE-1/2 |ZG |1TPb-2/2 |NK |1TPb-1/2 |ML |1TH-1/2 MK |3THA PA |1TPa GB |4TAN-2/3 |RA [2TEP-1/2 MW |2THA-1/2 KG |2TEP-2/2 BD [4TAN-1/3 |DU |1TH-2/2
.g 511:35-12:20 |BM |1TE-2/2 |RM [2TEP-2/2 |BH |1TA UH |3THA-2/2 LG [1TPa KM |3THA-1/2 KG |2THA GJ |1TE-1/2 |ZG |3LO-2/2 |NK |3LO-1/2 |ML |1TH-1/2 K [2LO PA |1TPb GB |4TAN-2/3 |ER [4TAN-1/3 |RA |2TEP-1/2 |DD |3TEP MW |4TBN-3/3 BD [4TBN-1/3 |DU |1TH-2/2
£ |612:25-13:10 |BM |1TE-2/2 |RM [1TE-1/2 UH |4TAN-2/3 LG [1TA KM [2TEP-1/2 |IP [2LO RV |3LO GJ |2TEP-2/2 |ZG |3TEP-2/2 ML [3THA-1/2 |PH |3THA-2/2 UK [1TH PA |1TPb ER |4TAN-1/3 |RA [3TEP-1/2 |DD |4TBN MW |2THA-1/2 |WE [2THA-2/2 DU [1TPa-1/2 |BD |1TPa-2/2
713:15-14:00 |BM |1TE-1/2 |RM [2TEP-2/2 K |1TA UH |1TPa-2/2 KM [2LO RV |3LO GJ |1TH-2/2 |ZG |3THA-1/2 |NK |1TPb-1/2 |ML |3THA-2/2 |PH |1TE-2/2 DG [4TBN PA |ATAN RA |1TPb-2/2 |DD |3TEP MW |2THA-1/2 |WE [2THA-2/2 BD [1TH-1/2 |DU |1TPa-1/2
814:05-14:50 |BM |4TAN-1/3 |RM [2TEP-2/2 KM |1TPb-2/2 MA [1TA GJ |1TPa-2/2 |ZG |3THA-1/2 |NK |1TPa-1/2 |ML |3THA-2/2 |PH |3TEP-2/2 DG [1TE PA |4TBN BD [1TH-1/2 |DU |1TPb-1/2
9 14:55-15:40 TT [4TBN-3/3
0 7:10- 7:55 BH |3THA-2/2
1 8:00- 8:45 KM [2LO-2/2 |RM |3TEP-2/2 Pl |2TEP ES |1TH-1/2 |BH |1TA La |3LO AK [3THA PM |1TPb PH |4TAN-1/2 ML [4TAN-2/2 MW |1TH-2/2 PA |1TE PD |1TPa-1/2 |UH [4TBN-3/3 |RA |1TPa-2/2 BD [2THA-2/2 |KR |3TEP-1/2
2 8:50-9:35 RM |3TEP-2/2 UH |4TAN-1/3 |ES |4TBN-1/3 La |2LO KM [4TAN-2/3 JAK [3LO LM |1TE Pl |1TA PH |1TPb-2/2 Kw |1TPb-1/2 |MK [3THA PA |2TEP PD |1TPa-1/2 |MW [4TBN-3/3 |RA |1TPa-2/2 |DD |1TH BD [2THA-2/2 |KR |3TEP-1/2
™ 3 9:40-10:25 |BH |4TBN-1/3 |RM [3TEP-2/2 UH |2TEP-1/2 |ES |2TEP-2/2 |[IW [4TAN KM [1TPa-1/2 JAK |1TPb Pl |2THA ZG |3LO-2/2 |NK |3LO-1/2 |ML |3THA-1/2 |PH [3THA-2/2 |[MK |2LO PA |1TA PD |3TEP-1/2 |MW [4TBN-3/3 |RA |1TPa-2/2 |DD |1TH KR |1TE-1/2 |TT |1TE-2/2
g 410:35-11:20 RM |3TEP-2/2 UH |4TBN-1/3 |ES |1TPb-2/2 JW |3THA KM |1TPb-1/2 LM |2THA PH |2LO-2/2 |ZG |4TBN-3/3 |NK |2LO-1/2 |ML |1TPa-1/2 |Kw |1TH-2/2 |MK |3LO PA |2TEP PD |3TEP-1/2 |RF [1TH-1/2 |RA |1TPa-2/2 |DD |4TAN [WE |1TA-1/2 TT [1TE-2/2 |KR [1TE-1/2
§ 511:35-12:20 EG |4TBN-3/3 |PH |4TBN-1/3 JUH |1TH-2/2 IP |2LO KM [1TH-1/2 JAK |1TPa Pl |2THA JW [3TEP-2/2 |2G |[2TEP-2/2 ML [2TEP-1/2 MK |3LO PD |3TEP-1/2 |RF [1TPb-1/2 |RA |1TPb-2/2 |DD |4TAN RM |1TE [WE |1TA-1/2 KR [3THA-1/2 |DU |1TA-2/2
612:25-13:10 RF [2TEP-2/2 KM [1TH-2/2 JAK [3LO LM |1TE Pl |1TPa ZG |3TEP-1/2 |NK |2LO-1/2 |ML |3TEP-2/2 |PH [2LO-2/2 |MK |2THA DG |4TAN PA |1TA PD |2TEP-1/2 RA |1TPb-2/2 |DD |4TBN (WE |3THA-2/2 EG |1TH-1/2 KR [3THA-1/2 |DU [1TPb-1/2
7 13:15-14:00 RF |3THA-1/2 UH |1TA-1/2 JW [2TEP-2/2 KM [1TA-2/2 |AK [4TAN RA |1TPb GJ [4TBN-2/2 |ZG [4TBN-1/2 |NK |2THA-2/2 PH [2THA-1/2 DG |[3TEP PA |1TE PD |2TEP-1/2 DD |1TPa (WE |3THA-2/2 EG |1TH-1/2 DU [1TH-2/2
8 14:05-14:50 RF |3TEP-1/2 KM [4TAN-1/3 JAK |2THA GJ [4TBN-2/2 |ZG [4TBN-1/2 PH |3TEP-2/2 PA |1TH PD |2TEP-1/2 RA [1TPb-1/2 (WE |3THA-2/2 EG |3THA-1/2 DU |1TPa-1/2
9 14:55-15:40 PD |3TEP-1/2
0 7:10- 7:55
1 8:00- 8:45 La |[1TE-2/2 |RM |2TEP-2/2 GJ |1TH RV |3TEP ZG |1TA-2/2 Kw |1TE-1/2 PA |ATAN PD |1TPb-2/2 |MW [4TBN-3/3 |PM |2THA-1/2 |DD |1TPa EG |[3THA-1/2 |WE [3THA-2/2 [T§ [4TBN-1/3 BD |2THA-2/2
2 8:50- 9:35 La [1TH-2/2 |RM |1TE-2/2 |RF |3THA-2/2 MA |1TA LM [2TEP-2/2 GJ [1TPa-1/2 |ZG |[2TEP-1/2 ML |1TPa-2/2 |Kw [1TE-1/2 PA |3TEP PD |[1TPb-2/2 |MW [4TBN-3/3 |RA |1TPb-1/2 |DD |4TAN \WE [2THA-2/2 |T$ |4TBN-1/3 [EG |2THA-1/2 KR |3THA-1/2 |BD |1TH-1/2
3 9:40-10:25 |La |[1TPb-2/2 RF |3THA-2/2 TT |2TEP-1/2 |T$ [1TA RV |4TAN GJ [1TPa-1/2 |ZG |[3TEP-1/2 ML |3TEP-2/2 |Kw [1TE-2/2 LM |2TEP-2/2 |PA [1TH PD [1TPb-1/2 |MW (3THA-1/2 DD [4TBN (WE |2THA-2/2 EG |2THA-1/2 KR |1TE-1/2 |BD |1TPa-2/2
§ 410:35-11:20 |BM (3TEP-2/2 |RM |1TE-1/2 TS [1TA RV |1TH KG |2TEP ZG [4TAN-2/2 |PH [4TAN-1/2 |ML [1TPa-1/2 |Kw |1TE-2/2 PA |2THA PD |3TEP-1/2 |MW [3THA-1/2 |RA |1TPb-1/2 |DD |4TBN KR |1TPb-2/2 |BD |1TPa-2/2
& | 511:35-12:20 |BM |3TEP-2/2 RF |2THA-2/2 KG [2TEP BD |1TA PM |1TPa RV |1TH ZG [4TAN-2/2 |PH |4TAN-1/2 RA |1TPb PA |4TBN PD |3TEP-1/2 |MW (3THA-1/2 DD [1TE EG |2THA-1/2 TT [3THA-2/2
612:25-13:10 |BM [4TAN-1/3 RF |2THA-2/2 |BD [1TE LG |1TA DA [2TEP-2/2 KG |3THA KR |1TH-1/2 |ZG |1TPb-2/2 |PH |2THA-1/2 TT [4TBN PA |1TPa PD |2TEP-1/2 RK [4TAN-2/3 |DD |3TEP EG |1TH-2/2 DU |1TPb-1/2
713:15-14:00 |BM [4TAN-1/3 RF |2THA-2/2 LG |1TPa DA |1TE LM |2TEP BD |1TPb GW |3TEP-2/2 |PA  [3THA PD |[4TAN-2/3 |EG [4TBN-2/3 |RK |3TEP-1/2 |DD |1TH MW |2THA-1/2 TS |4TBN-1/3 TT [1TA-1/2 |DU [1TA-2/2
8 14:05-14:50 RF |2THA-2/2 LG |1TPa DA [2TEP-2/2 |TT |[1TA-1/2 PA |3THA PD |[4TAN-2/3 MW [1TH-2/2 |RK |2TEP-1/2 TS |4TBN-1/3 [EG [1TH-1/2 BD |4TAN-1/3
9 14:55-15:40 PD |[4TAN-3/3 TS [4TBN-1/3
0 7:10- 7:55 |
1 8:00- 8:45 RM [1TA-2/2 |BD |[1TPa UH |2THA-1/2 |ES |2THA-2/2 |EG [1TH RV |3TEP DG |1TPb GW [3THA-1/2 IP |4TBN DD |[4TAN (WE |3THA-2/2 1T |1TA-1/2
2 8:50-9:35 RM [1TE-1/2 |RF |4TBN-2/3 |UH |1TPb-1/2 |ES [2LO KG |2THA BD |1TPa RV |3THA Pl |2TEP MS [1TA-1/2 |GW |1TH DG |4TAN RA [1TPb-2/2 |DD |3TEP WE |1TA-2/2  |BH [4TBN-1/3 |EG [4TBN-3/3 TT [1TE-2/2
~ | 3 9:40-10:25 RM [1TE-2/2 |RF |4TBN-2/3 JUH |2TEP-2/2 |ES |1TPa-2/2 |KG [1TPb BD |1TH RV |3THA Pl |1TA KK |1TE-1/2 |KR [1TPa-1/2 MK |2LO DG |4TAN RA [2TEP-1/2 |DD |3TEP \WE |2THA-2/2 |BH [4TBN-1/3 |EG [2THA-1/2 TT [4TBN-3/3
@ 410:35-11:20 |BM [1TE-1/2 |RM |1TE-2/2 |RF [4TBN-2/3 |UH [2LO ES [1TA-2/2 KG [3THA RV |1TPb Pl |1TPa KR |1TA-1/2 MK |1TH DG |3TEP RA [2TEP-1/2 |DD [4TAN WE |2THA-2/2 |BH [4TBN-1/3 |EG [2THA-1/2 TT [4TBN-3/3 |BD [2TEP-2/2
% 511:35-12:20 RM [4TAN-1/3 |BH |2THA-2/2 JUH |1TA-2/2 |ES |3THA-1/2 LM |1TE KM |3THA-2/2 RV |1TPb Pl |1TH GJ [1TA-1/2 MK |2LO DG |3TEP MW |4TBN-3/3 |RA [2TEP-1/2 |DD (1TPa TS |4TBN-1/3 [EG [2THA-1/2 KR |4TAN-2/3 |BD |2TEP-2/2
©1612:25-13:10 |BM [4TAN-1/3 |RM [2TEP-2/2 [BH [1TA-3/3 |UH [2THA-2/2 [ES [3THA-2/2 KG [1TPb KM |2THA-1/2 Pl |1TPa GJ [3TEP-1/2 |RF [1TA-2/3 MK |2LO DG |4TBN GW [1TH RA [2TEP-1/2 |DD |1TE TS |1TA-1/3 [EG [|3THA-1/2 KR |4TAN-2/3 |ER |3TEP-2/2
7 13:15-14:00 BH |1TA-3/3 |UH [1TPb-2/2 |ES |3TEP-1/2 |EG |ATAN KM |2THA-2/2 |RA [1TPa KK [1TPb-1/2 |PI |1TE GJ [1TH-2/2 MK |2TEP KG |3THA MW |4TBN-3/3 RF [1TA-2/3 |GW |1TH-1/2 TS |1TA-1/3 BD |4TBN-1/3 |ER |3TEP-2/2
8 14:05-14:50 RM [4TAN-1/3 |BH |1TA-3/3 |JUH |1TE-1/2 |ES [2THA-1/2 KM |1TE-2/2 KK |1TPb G) [1TPa-2/2 MK |2TEP KG |3THA MW |4TBN-3/3 |RA [3TEP-1/2 |RF [1TA-2/3 TS |1TA-1/3 BD |4TBN-1/3 |ER |3TEP-2/2
9 14:55-15:40 TS [4TBN-1/3
0 7:10- 7:55 MW |3THA
1 8:00- 8:45 RF [1TE-1/2 |MW |4TBN-3/3 ES [1TE-2/2 KM |2TEP-2/2 GJ [2TEP-1/2 |GW [4TAN-1/3 ML |1TPb-2/2 |Kw [3TEP-1/2 |MK |3THA MS |1TA PD |4TAN-2/3 |ER [3TEP-2/2 |RA |1TPb-1/2 TS |4TBN-1/3 [EG [1TH-2/2
2 8:50-9:35 RF [3TEP-2/2 ES [3LO GW |3THA-1/2 KR |1TPb Pl |4TBN GJ [1TH-1/2 |ZG |[4TAN-2/2 |MS [1TA-1/2 |ML [4TAN-1/2 |Kw |3TEP-1/2 |MK [2TEP PD |1TPa-2/2 |PM [2THA-2/2 |RA |1TPa-1/2 |DD |1TE MW [2THA-1/2 |WE [1TA-2/2 |T$ [3THA-2/2 [EG |1TH-2/2
3 9:40-10:25 RF [3THA-2/2 ES [1TH-2/2 |KK [4TAN-2/3 KM |3LO IAK  |3TEP Pl [1TE G) [1TA-1/2 |ZG |[2TEP-1/2 ML |1TPa-2/2 |Kw [2TEP-2/2 |MK |2THA DG |4TBN PD |1TPb-1/2 |ER [4TAN-1/3 |RA |1TPa-1/2 GW |3THA-1/2 |WE [1TA-2/2 EG [1TH-1/2 KR |1TPb-2/2
é 410:35-11:20 RF |1TA-1/2 ES [3TEP-2/2 |EG [1TH KM |4TAN-2/3 |AK [2TEP Pl |2THA G) [1TPa-2/2 |Z2G [1TA-2/2 Kw [1TPb-1/2 |MK |3LO DG |1TE PD [3TEP-1/2 |ER |4TAN-1/3 |RA [1TPa-1/2 |DD |4TBN TS |3THA-2/2 |[GW |3THA-1/2 KR |1TPb-2/2
g 511:35-12:20 RF |1TPa-2/2 ES [1TA-1/2 |EG [1TH KG [2TEP KM |4TAN-1/3 |AK [4TBN Pl |1TPb G) [2THA-2/2 MS [1TA-2/2 Kw [2THA-1/2 [MK |3LO DG |1TE PD [3TEP-1/2 |ER |3TEP-2/2 |RA [1TPa-1/2 \WE |3THA-2/2 GW (3THA-1/2 KR |4TAN-2/3
6 12:25-13:10 EG [4TBN-3/3 JUH [1TPa-1/2 |ES |1TE-1/2 7G |2TEP KM |1TPa-2/2 |KK |[1TE-2/2 |LM |3TEP-2/2 |PI [1TA G) [2THA-2/2 Kw [2THA-1/2 [MK |1TH DG |1TPb PD [3TEP-1/2 |ER |4TAN-1/3 |RK [4TAN-2/3 \WE [3THA-2/2 |T$ |4TBN-1/3 |GW [3THA-1/2
7 13:15-14:00 RF |1TPa-1/2 UH |3TEP-2/2 |ES [2TEP-1/2 KG [3THA KM |3TEP-1/2 Pl [1TE G) [2THA-1/2 |ZG |[2TEP-2/2 |MS [1TA-2/2 Kw [2THA-2/2 DG |1TPb GW [1TH-1/2 |PD |1TPa-2/2 |ER [4TAN-1/3 |RK |4TAN-2/3 WE [1TA-1/2 TS |4TBN-1/3 |[EG [1TH-2/2
8 14:05-14:50 RF |2TEP-1/2 [T$ |4TBN-1/3 |UH [1TE-2/2 KM |1TE-1/2 G) [2THA-1/2 Kw [2THA-2/2 ER |3TEP GW [3THA-1/2 RK [4TAN-2/3 |WE |3THA-2/2
9 14:55-15:40
N [0} N (0] N [0} N [0} N [0} N [0} N (0] N [0} N (0] N (0] N (0] N [0} N (0] N (0] N [0} N [0} N [0} N [0} N (0] N [0} N [0} N [0} N [0} N [0} N [0} N (0] N [0} N|O| N (0] N [0}
201 310 301 203 304 104 210 204 111 110 208 106 107 306 101 307 302 109 211 308 102 309 108 209 212 103 311 213 sgl sg2
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